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𝐅𝐢𝐧𝐝 (𝒔𝟐 − 𝟐𝒔 − 𝟖) ÷ (𝒔 + 𝟐).

𝑠 + 2 𝑠2 − 2𝑠 − 8

Divide: 𝑠2 ÷ 𝑠 = 𝑠𝑠

Multiply: 𝑠(𝑠 + 2)

Step 1: Divide the first term of dividend by first term of the divisor.

• You can use long division to divide a polynomial by a binomial.

−(𝑠2+2𝑠)

−4𝑠 − 8 Subtract.  Bring down −8

Step 2: Divide the first term of                    by first term of the divisor.−4𝑠 − 8

𝑠 + 2 𝑠2 − 2𝑠 − 8

𝑠

−(𝑠2+2𝑠)
−4𝑠 − 8

−4

−(−4𝑠 − 8) Multiply: −4(𝑠 + 2)
Subtract. 0



• You could have also factored out 𝑠2 − 2𝑠 − 8 and divided out a 
common factor. .

(𝒔 − 𝟒)(𝒔 + 𝟐)

𝑠 + 2
= 𝑠 − 4



𝑦 − 3 𝑦2 − 7𝑦 + 2

𝑦

−(𝑦2−3𝑦)

−4𝑦 + 2

−4

−(−4𝑦 + 12)

−10





• When dividing polynomials using long division, first write the 
polynomials in standard form and insert any missing terms..

𝐅𝐢𝐧𝐝 (𝟐𝒔𝟐 − 𝟒) ÷ (𝒔 − 𝟐).

𝑠 − 2 2𝑠2 + 0𝑠 − 4

2𝑠

−(2𝑠2−4𝑠)
4𝑠 − 4

+ 4

−(4𝑠 − 8)

4

So, (2𝑠2 − 4) ÷ (𝑠 − 2) = 2𝑠 + 4 +
4

𝑠−2




